
1 https://jpw-catalog-qa-b2c-2.corevist.cloud/oes9138-3hp-3ph-contour-sanding-unit
7/4/25

OES9138 3HP 3PH Contour Sanding
Unit

Product Images

https://jpw-catalog-qa-b2c-2.corevist.cloud/oes9138-3hp-3ph-contour-sanding-unit


2 https://jpw-catalog-qa-b2c-2.corevist.cloud/oes9138-3hp-3ph-contour-sanding-unit
7/4/25

Description

Index
Number

Part
Number Description Size Qty

1 OES-077A Sanding Arm Casting  1

2 TS-1550071 Flat Washer M10 4

3 TS-1551071 Lock Washer M10 6

4 TS-1491061 Hex Cap Screw M10 x 40 2

5 OES-078 Locking Handle  1

6 OES-079 Table Post  1

7 OES-080 Contour Table Unit  1

8 TS-1491081 Hex Cap Screw M10 x 50 1

10 TS-2331101 Cap Nut M10 1

11 OES-081 Washer 10 x 25 x 6 1

13 OES-067 Locking Handle M10 x 35 1

16 TS-1491031 Hex Cap Screw M10 x 25 2

17 OES-082 Tilt Bracket  1

18 OES-083 Contour Sanding Table  1

19 OES-084 Retaining Ring  1

20 OES-085A Guard Post  1

21 OES-086A Dust Hood  1

22 TS-1550061 Flat Washer M8 2

23 TS-1551061 Lock Washer M8 2

24 TS-2248162 Socket Hd Button Screw M8 x 16 2

Additional Information

Stock Number 1791293-5

Products in this set

https://jpw-catalog-qa-b2c-2.corevist.cloud/oes9138-3hp-3ph-contour-sanding-unit

